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Zeros: 1 Zeros: —1
Y-intercept: None Y-intercept: None
Variation: Variation:
f(z) /if x €]0, +o0] flx) fifz el
fle)y\ifz e flx) \if z €] — 00, 0]
Extremums: Max: None, Min: None Extremums: Max: None, Min: None
Sign: Sign:
f(z) > 0if x €]0,1] f(z) >0if z €] — 00, —1]

flz) <0ifx € [1,400] flz) <0ifz e [-1,0]
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Sign:
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12. (1) f(z)=2""+3
(2) f(2) =35 -3

(3) F () = %10221 +1

@) f ) = —5e T

(5) f7'(x) = logy(x +3)

(6) 7 (2) = 3 oy ( . 1)

13. 37 years.
14. 9 years.
15. 53 years old.

16. (a) f(t) =10000 - 2. Where ¢ is
the number of hours.

(b) 28 284 bacteria.
(c) 92.88 minutes.



